= o
A & 0l & AF 2 E A A
20188 & =0l & LBHSIH Aot AR A
AN dot=SAFE A
HE: M4E el
Sl DI2ASE 22 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotrS ALE A 27,052,820 33,583,170 26,530,350
2 4,486,960
Xl 4,420,000
= 432,641
s 17,713,219
o= 2te| 12,580,582 10,006, 208 2,574,374
X 4,420,000
< 69,000
[ia 8,091,582
OS5 22l 12,580,582 10,006,208 2,574,374
Xl 4,420,000
= 69,000
s 8,091,582
SOHEMS &d==ZAE HES 1,488,582 1,281,208 207,374
= 69,000
[ia 1,419,582
201 et 195,942 18,840 177,102
01 At 2teltl 9,760 10,020 A 260
OB+t 4,560,000 4,560
o=l 5,200,000& 5,200
02 2324l 186,182 8,820 177,362
O=323<LHA 183,782
— o232 MELXAM SI 25
450,000& 123 5,400
—Adgs A2 45,0003 x12& 540
—RESHR= 40,0003 +12& 480
— OIS+ L ARSSSAE SE2HBA =
= 177,362,000 14 177,362
OFXYZ(HAEMA) ELHl 2,400,000 14! 2,400
202 044l 8,640 10,368 N1,728
01 = LH o4 1l 8,640 10,368 A1,728
OsEdess 23 2F8 8,640,000 8,640
203 ¥R =&l 2,000 2,000 0
03 A=A H =AY 2,000 2,000 0
O&ot=EAME AIHFZ 2,000,000& 2,000
401 Al HI L =2 T 1,282,000 1,250,000 32,000
< 69,000
s 1,213,000
01 A& HI 1,272,208 1,239,740 32,468
OsHEDS &= AE HE+
240,920,000 240,920
OgAasYI £X 49,460,000 49,460
Obts&=E Ss¢3 WA 99,100,000& 99,100
Obts&d=% E=xXalAld X 99,100,000 99,100




2N Aol AIE A
M gag 2l
e DS 22 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Oblsa: & ARD SEAE 22 E 44|
49,460,000 49,460
OARE 2£AE HESE 99,100,000 99,100
OJI& XNotIiY 5ol FES$EXANEYE
39,568,000 39,568
OXNot4+=2d HA(HMHMA) 99,100,000 99,100
OEHEXZAY 496,400
— IS4 (2aAE) S22 QI E
g9 496,400,000 496,400
< 69,000
= 427,400
03 Al 20| 9,792 10,260 N 468
OsHEDNS AT AE HES 1,080,000& 1,080
OgEAEI] &AX 50,000,000 *1.08/100 540
Oltsax=s se43 Wi
100,000, 000€ x0.90/100 900
Ottsa+ H=XH2lAld &X
100,000, 000€ x0.90/100 900
Ollsasz & AR SHAIE 228 4|
50,000,0002 *1.08/100 540
O4RR2 SHAE N
100,000, 000& x0.90/100 900
OJ|& XNotIiY 5ot FESEXANEY
40,000,0002 *1.08/100 432
OXot+=2d HAHMHMA)
100,000, 000€ x0.90/100 900
OSHEXZANY 3,600
— IS4 T(2xAE) 22 It E
g4 500,000,000& *x0.72/100 3,600
A2 =& EF3 AlE HEFAMGXE 1,000,000 714,000 286,000
Xl 700,000
= 300,000
401 Al HI L 2 0HHI 1,000,000 714,000 286,000
N 700,000
iy 300,000
01 Al & H| 993,700 709,501 284,199
OXNEUNELHZ HAIH 993,700
—ARR =25 =55 A NEAISE XA
993,700,000& 993,700
Xl 700,000
= 293,700
03 AlE 21| 6,300 4,499 1,801
OXNALNELHG H AL 6,300
— AR =5 53 AlE HEAISE XA
1,000,000,000& *0.63/100 6,300
SHEMBSANL(ZHRES) 2,929,000 2,143,000 786,000
N 1,000,000




A dot=Z A A
B yaz B2
Sel: D24 22 EEREED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 1,929,000
401 Al& I 28I 2,929,000 2,143,000 786,000
Xl 1,000,000
s 1,929,000
01 A& HI 2,848,455 1,835,285 1,013,170
OXNGLHMELS A ALY 2,848,455
— SHEMEEANL(ZHRE)
2,848,455,000& 2,848,455
X 1,000,000
i 1,848,455
02 Zeltl 70,000 300,000 A 230,000
OXNGLHEL S A ALY 70,000
SO EMEEANY(ZHRE)
70,000,000& 70,000
03 AIE 2 0H I 10,545 7,715 2,830
OXNSLHESE A A 10,545
—SHEMESSNL(ZHESE)
10,545,000& 10,545
SHENMBESNL (HY) 2,143,000 209,000 1,934,000
Xl 100,000
[ 2,043,000
401 Al BIZ 201 8] 2,143,000 209,000 1,934,000
Xl 100,000
i 2,043,000
01 Al tl 1,885,285 207,495 1,677,790
OXNALHEL 3 A ALY 1,885,285
—sHEMESSIL(FY)
1,885,285,000& 1,885,285
Xl 100,000
s 1,785,285
02 Zeltl 250,000 0 250,000
OXNSLHSEZ A A 250,000
—sSOHEMESESHL(FE) 250,000,000 250,000
03 AIE 20 HI 7,715 1,505 6,210
OXNSLHSEZ A A 7,715
—SHEMEESNL(HY) 7,715,000 7,715
SHENMESE PN (A) 2,134,000 2,571,000 A 437,000
Xl 2,000,000
[ia 134,000
401 AlEH 2 2 0hHl 2,134,000 2,571,000 A 437,000
X 2,000,000
s 134,000
01 A& Bl 1,907,617 2,161,744 A 254,127
OXNGLHELZ A ALY 1,907,617




EA: Mot A A
B yaz B2
Sel DISAAE 2 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—SoEdEEANT(BH)
1,907,617,000& 1,907,617
Xl 1,900,000
= 7,617
02 2eldl 218,700 400,000 A 181,300
OXNYGLEEEZAHAIS 218,700
—SHEMEZ S (AH) 218,700,000& 218,700
Xl 100,000
= 118,700
03 A& 2 0HYI 7,683 9,256 N 1,573
OXNYGLEELEZHAIS 7,683
— SO EMBELNY (M)
2,134,000,000& *0.36/10 7,683
SHEMEESSIHE(ER) 2,886,000 714,000 2,172,000
Xl 620,000
= 2,266,000
401 Al HI L £ 0HHI 2,886,000 714,000 2,172,000
Xl 620,000
= 2,266,000
01 A& Hl 2,555,610 559,501 1,996, 109
OXNGLHELZ HAS 2,555,610
—SHEMEEXINL(ER)
2,555,610,000& 2,555,610
N 620,000
= 1,935,610
02 22/l 320,000 150,000 170,000
OXNYGLEELEZAHAIS 320,000
—SHEMEZLIPL(ES) 320,000, 000& 320,000
03 A& 20HY| 10,390 4,499 5,891
OXNYGLEEEZAHAIS 10,390
—SHEMEZLIPL(ES) 10,390, 000& 10,390
S306tx=% 22| 8,102,856 15,775,430 NT,672,574
= 4,486,960
o= 153,641
= 3,462,255
otx=2H Hul 4,303,001 2,386,000 1,917,001
= 3,040,000
= 1,263,001
ot4+=o HX 2 22| (st=27 HH|)-8dS 4,063,001 715,000 3,348,001
= 3,029,000
= 1,034,001
401 Al HIL 20| 4,063,001 715,000 3,348,001
= 3,029,000
iy 1,034,001
01 A& Hl 3,709,961 649,496 3,060,465




AN dot=SAFE A
Ny ZRolAT B2
& St=2t FHl (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZHIEx= At 3,709,961
—BES OIS BE FHIMY
3,709,961,000& 3,709,961
= 3,029,000
[ia 680,961
02 Zeltl 345,600 61,000 284,600
O=HIEXZ ALY 345,600
—EdE o222 ZHAEY
28,800,000& x12& 345,600
03 A& SR THHI 7,440 4,504 2,936
O=2HIEX ALY 7,440
—Ed8 ol=22 UM 7,440,000& 7,440
SS9 Xl ¥ Zel(ot=22 Fdl)-&& 240,000 1,671,000 A 1,431,000
= 11,000
s 229,000
401 AIEHI L 2CHEI 240,000 1,671,000 A 1,431,000
= 11,000
[ia 229,000
01 A& Hl 239,136 1,522,614 AN 1,283,478
OZHIE= A 239,136
— g8 =22 FZ4 239,136,000 239,136
= 11,000
s 228,136
03 AIE2 2 THHI 864 6,016 A5,152
OZHIE= AL 864
— g8 =22 FZ4 864,000& 864
230t A4 Hl 3,799,855 13,389,430 A 9,589,575
= 1,446,960
= 153,641
[ia 2,199,254
St=&o X 2 Zel(s0E otsdt=S Eol)-t 213,000 6,181,000 25,968,000
2 (21t)
401 Al HIZ 201 Y] 213,000 6,181,000 25,968,000
01 A& HI 213,000 5,638,925 A5,425,925
O sHE02 ot=% ZHIA (22 H)
213,000, 000& 213,000
SS9 X ¥ Zel(=0=E otSdt=< &ol)-0H 1,901,000 428,000 1,473,000
ot
= 1,027,000
< 124,926
s 749,074
401 AIEHI L 201 1,901,000 428,000 1,473,000
= 1,027,000
< 124,926
e 749,074




2N Aol AIE A
Ny ZRolAT B2
Sl BIoALTAIE FH CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 1,733,715 388,452 1,345,263
O2HBEZAY 1,733,715
— e sH=E0t26tS & |
1,733,715,000& 1,733,715
= 1,027,000
= 45,641
= 661,074
02 22l 162,000 36,466 125,534
OZHIEZAY 162,000
— 0ot =sHE0ISota=% &EH|
13,500,000 x12& 162,000
& 79,285
= 82,715
03 AlE 21| 5,285 3,082 2,203
O2HBEZAY 5,285
— e sH=0tE26tS & |
1,468,000,000& *0.36/100 5,285
ot=E9o &X & Z2(sOHE OtSot=% &l)-Jt 347,915 3,158,800 N2,810,885
o
= 149,960
= 5,715
= 192,240
401 AlEHIZL 2 0HY| 347,915 3,158,800 N2,810,885
= 149,960
== 5,715
= 192,240
01 Al&H| 318,691 2,629,451 N2,310,760
O=2HIExZAY 318,691
—Jls sUHE DISot+=E HHIAMY
318,691,000 318,691
= 133,691
= 185,000
02 22l 25,600 520,800 A 495,200
OZHIEZAY 25,600
—Jls sOHE 0ISot:=T EBIAMY
3,200,000 x8& 25,600
= 16,269
& 5,715
= 3,616
03 AlE 201 Y| 3,624 8,549 N4 ,925
O2HEZAY 3,624
—Jls sHE DISot+=E UMY
3,624,000 3,624
ot4=E9 AX L el (otHelZAXIAIL-JI0E0F2 316,000 0 316,000
=x)
= 270,000
= 23,000




SA: ABIAZAIYA
Hm: ZZAE 22
B@el: B30t AIE FEHI (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 23,000
401 A& HIZ 201 I 316,000 0 316,000
= 270,000
< 23,000
s 23,000
01 A& HI 286,725 0 286,725
OZHIEx= At 286,725
— JlOIOI2 B3ot=HMlAlE SEAY
286,725,000& 286,725
2 270,000
< 3,943
[ia 12,782
02 Zeltl 27,000 0 27,000
OZ3HIEx= AL 27,000
— JlOIOFZ S3ot=HMelAld S£AdY
2,250,000& x12& 27,000
< 19,057
- 7,943
03 A& S THHI 2,275 0 2,275
O=HIEXAY 2,275
— JlOIOI2 B3ot=HMlAlE SEAY
315,900,000& *0.72/100 2,275
St==&Hl JI2AH= MHEH| 100,000 500,000 A400,000
401 AIEHI L 20 100,000 500,000 A400,000
01 A& HI 100,000 500,000 A 400,000
Odt=& FHIII=2HE HEEA
100,000, 000& 100,000
SAHE RSN Ste=% EHI 921,940 631,150 290,790
201 LBt 16,540 13,830 2,710
01 At 22l 6,500 5,340 1,160
Oget=&H| 600,000 600
OfIds &4 150,000 »9H »23| 2,700
Oz &l 3,200,000 3,200
02 =24l 10,040 8,490 1,550
O3 & HA 3,490
—ot=& g3l 2,400,000& 2,400
—2EX USIHAl 50,000& 50
— 22X 282 1,000, 000& 1,000
—S#ZMNERE = 20,0003 »23] 40
OXtg - &I 6,550
— 22N RFUH 4,750,000 4,750
— 28X KA 600, 000& *33] 1,800
202 o4dl 5,400 4,320 1,080
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M
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s

0K OB 0%
0K Op St
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ol
nmn=
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=
nx
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- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
01 2L I 5,400 4,320 1,080
Obdtx=CdH 23 28 5,400,000 5,400
401 Al HI L £ 0HHI 900,000 613,000 287,000
01 Al& H| 892,548 607,398 285,150
OZANHERAELY St=E HH| 198,560,000 198,560
O33ot+=HMel7<= W st &bl
99,100,000 99,100
OZ2206t2=% MHelRY9WH AIS X 24t
99,100,000 99,100
OStdE Ul2Fot422 FHIAMY
198,560,000 198,560
O/Ib ATHAKl otz =SHAY
39,568,000 39,568
O/l Sle=XHel Y ole2=2 BE=Z2A
39,568,000 39,568
OR4A 2D|0tS St &HIZ2AF 49,460,000 49,460
OJgl AKX otx=E=4d L HUIAIY
39,568,000 39,568
OJI0t OHEOIES ot22 EXALY
129,064,000 129,064
03 Al 20| 7,452 5,602 1,850
OZANHERSEW St== HHI
200,000,000€ x0.72/100 1,440
OZ220t=Hel 22 alx=% ot =4
100,000, 000& x0.90/100 900
O&230t+=& MY AIS X 24t
100,000, 000& x0.90/100 900
Oetd g DIEFot=2&= U AL
200,000,000€ x0.72/100 1,440
OHMIIATHAl Sl=22 EHALS
40,000,0002 *1.08/100 432
Ol Bl=Xel 7Y St E BE=Z2AH
40,000,0002 *1.08/100 432
OZ A 2|02 SIS EHIZAH
50,000,0002 *1.08/100 540
OIS A2MMA St =& L HUIAIE
40,000,0002 *1.08/100 432
OJI0F OHEOIES ot22 EXALY
130,000, 000& x0.72/100 936
HEMSH A (MoIET A A) 23,470 24,070 A 600
JlE&d| 23,470 24,070 A 600
Jl2 &4l 23,470 24,070 A 600
201 gEt24Ay| 9,670 9,670 0
01 AP 22| H| 9,670 9,670 0
Ogbt4=24| 9,670,000& 9,670




AN dot=SAFE A
M HY2IAZH (Mot AIE L)
el JI=23Hl

% S 4 14
SA - EB B (3H) - NSAY %Eﬁ HR=2
202 o4 | 10,200 10,200 0
01 2L I 10,200 10,200 0
OBNXd2d (A, HOIL, 32
10,200
203 SR F & 3,600 4,200 A 600
04 FEASHEYRFEH| 3,600 4,200 A 600
ORBNM2gI2F=&Y| 3,600
MEES(MBIETAIAA) ,345,912 7,777,462 A 1,431,550
= 210,000
= ,135,912
WEAHA K= ,345,912 7,777,462 A 1,431,550
= 210,000
= ,135,912
JIEISHEE =2 ,904,949 2,775,181 129,768
701 JIEISI HSHEZ ,904,949 2,775,181 129,768
01 JIEIS HE &2 ,904,949 2,775,181 129,768
OFZNLEEIH HES 2,904,949,000& ;904,949
2I|PELIIHEEZ ,440,963 5,002,281 N 1,561,318
= 210,000
= ,230,963
701 JIEISI HSEES2 ,440,963 5,002,281 N1,561,318
= 210,000
= ,230,963
03 2I)IHYELHIHN=2ANEZ , 440,963 5,002,281 AN 1,661,318
OM=EZBIIEELEIH NHEN
,440,963,000& , 440,963
OEHIEXZ ALY ,000,000
—HH-ATA NYHLE =
1,000,000,000& ,000,000
o= 210,000
= 790,000




